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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
Part A 11366 12.6 3.3 24 52.3 100
Part B 11367 11.2 3.4 22 51 100
Part C 11361 7.5 2.1 14 53.6 100
SPaG 11362 2.8 0.8 4 71 100
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b(iv) Suggest reasons for 
changes in the 
growth of urban 
areas. 


Credit TWO simple statements 
and one elaboration: (1+1)+1 
or:  
ONE simple statement with two 
elaborations: (1+1+1) 
 
MAX 2 if no elaboration. 
Do not credit pull factors /”people 
migrate to find work” responses 
per se. We are looking for the 
impact on urban area growth as a 
result of changing population. 
'Causing urban area to gown / 
expand' –only credit this 
statement once in the entire 
response.  


More people have moved there so more homes (1) and 
services/shops are built (1) causing urban areas to grow/expand 
(1) 
As the population increases so does road / rail / air traffic (1), so 
more roads / railways / airports / infrastructure are needed (1) 
causing urban areas to grow/expand (1). 
 


1 2  3 
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Sticky Note

Here the candidate scored 0. These responses would be better suited to the question above, as here, we were looking for what happens to urban areas if people move to them - e.g. houses are built to accomodate people moving into the city, offices and factories are build for new businesses, leading to the urban area getting bigger ( or sprawling).












Sticky Note

A response written in simpler and shorter sentences that still gets 2 marks - it identifies the (need for more housing) for the first mark, and the impact on urban areas (they grow as a result) for the second mark.













Sticky Note

This is an excellent 3 mark response which identifies the reason for growth and the impact on the urban area: "people move in = more houses needed" (for the 1st mark), "so more services are needed = shopping centres built" (for the 2nd mark), with a final "meaning urban sprawl increases" statement (for the 3rd mark).
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(c) 


 Option 2: Holding the line using “soft” engineering: A combination of beach nourishment and sand dune stabilisation could be used to 
protect Seaside Heights. 
 
Study the information on page 7 of the separate Resource Folder. 


 


(i) Choose either beach 
nourishment or sand 
dune stabilisation.  
 
Explain why your 
chosen strategy 
reduces the risk of 
coastal flooding. 
 


Credit TWO simple statements 
of which one elaborated: 
1+(1+1) 
or: 
ONE simple statement with 
two elaborations: (1+1+1) 
 
MAX 2 if only simple 
statements. 
 
Do NOT credit direct “lifts” from 
the information boxes in the 
resource – they have to be 
qualified. 
 


Sand dune stabilisation: 
Marram grass traps blown sand on the surface (1) and helps 
build up the dune/ reduce erosion (1)  
Christmas tree roots help bind the sand under the surface (1) so 
it is less likely to blow away (1) 
Fencing helps fix the dune in place (1) so it doesn’t migrate (1). 
If sand dunes were positioned along the beach at Seaside 
Heights they would act as a barrier (1) so waves can’t reach 
buildings (1).   
 
Beach nourishment: 
Building up a beach means more sand to absorb wave energy 
(1) and so reduces destructive power (1). 
The beach will be wider (1) so waves have to travel further (1) 
which means they won’t be as powerful by the time they reach 
the sea front (1) thereby reducing destructive potential (1). 


1 2  3 


 


(ii) Suggest one potential 
disadvantage of either 
of these strategies for 
local businesses.  
 
 
 
 
 
 


Credit ONE simple statement 
and its elaboration: (1+1) 
 
MAX 1 if no elaboration. 


Both: 
Could be easily washed away / eroded in a large storm (1) so 
offer no protection when really needed /waste of money(1) 
Beach nourishment: 
Constant disruption to beach usage/visual blight/ noise (1) so 
tourism loses money (1) 
Dunes: 
Block sea views (1) so houses don’t sell/ reduce house prices 
(1) 
Make access to beach harder / less appealing /attractive (1) so 
less likely to use beach/ tourism loses money (1) 


 2  2 
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Sticky Note

This response started really well with a strong simple statement about beach nourishment increasing distance from the sea (for 1 mark), but then didn't get any more marks as it became vague with comments about being" effected". How could you change "effected" to get more marks?



Sticky Note

This response has a good statement that describes the problem (for first mark), but doesn't go on to explain how the problem impacts on local businesses - can you provide this elaboration (for the second mark)?  












Sticky Note

A fair 2 mark response: the candidate identifies widening of the beach (first mark), which then means waves have to travel further (2nd mark). How could this candidate have got a third mark here?



Sticky Note

good 2 mark response using short sentences: "unsightly" simple statement (for first mark), means "less money for local businesses" (for second mark). This response shows you don't have to write a novel to get the marks! 
NB: there is a potential 3rd mark here  - can you spot where it is?












Sticky Note

This response hasn't explained how beach nourishment works to protect the land as the question requires (NB: the little upside-down red V is the examiner's way of showing this). The candidate has then not stuck to the question when writing about providing money to boost the economy - that is irrelevant here. So 0 marks.



Sticky Note

A good response that shows the candidate understands that beach nourishment may only be as good as long as it keeps being used ( for 1 simple statement mark), and then has elaborated with an impact of this on local businesses (for the second mark).
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	 Option 2: Holding the line using ‘soft’ engineering: A combination of beach nourishment 
and sand dune stabilisation could be used to protect Seaside Heights.


	 (c)	 Study the information on page 7 of the separate Resource Folder.


	 (i)	 Choose either beach nourishment or sand dune stabilisation.
		  Explain why your chosen strategy reduces the risk of coastal flooding.	 [3]


	


	


	


	


	


	


	


	 (ii)	 Suggest one potential disadvantage of either of these strategies for local 
businesses.	 [2]
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(d)  Option 3: Hold the line using “hard” engineering: A combination of rock armour and concrete sea walls could be used to protect Seaside 
Heights. 
Study the information  on page 8 of the separate Resource Folder and the diagram below. 


 


(i) Explain how each 
feature helps reduce the 
risk of coastal flooding.  
 


Credit ONE mark per valid 
explanation of EACH feature 
described: 1+1+1 
 
 
Must provide an explanation for 
each feature to get three marks. 
 
 


Curved section at top of  Wall: 
Reflects waves back /transfers energy away (1) 
 
Stepped wall at 30 degree angle:  
Dissipates energy of breaking  waves over larger surface 
area (1) 
Wave energy is reduced travelling up slope (1) 
Rock armour at base of wall: 
Helps break up waves before they reach the wall / protects 
base of wall (1) 
Wave energy is dissipated in the gaps between the 
boulders (1)  
Made of granite so harder to move / erode (1)  
 


3   3 
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Sticky Note

This candidate didn't score any marks as the responses didn't explain (or "say why") as the question required.
Can you add an explanation for each to get the marks?












Sticky Note

Notice how this candidate gets 2 marks for writing correct responses but in very simple language - you don't have write novels to get the marks.
How could you write a response in simple language to get the third mark for explaining how rock armour works?













Sticky Note

1 mark for explaining the curved wall



Sticky Note

0 marks because this response hasn't explained how the rock armour absorbs energy - what is it about the structure of rock armour that allows it to absorb wave energy?



Sticky Note

0 marks because this response hasn't explained how the stepped and sloping wall reduces energy - what is it about the structure of this feature that allows it to reduce wave energy?













(4242-04) Turn over.
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	 Option 3: Hold the line using ‘hard’ engineering: A combination of rock armour and concrete 
sea walls could be used to protect Seaside Heights.


	 (d)	 Study the information on page 8 of the separate Resource Folder and the diagram 
below.


	 (i)	 Explain how each feature helps reduce the risk of coastal flooding.	 [3]


22


	 (ii)	 Give one reason why some environmentalists may think this is not a sustainable 
option.	 [2]


	


	


	


	


	


	


End of Part B
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Rock armour at the base of wall:
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Stepped wall at 30 degree angle:
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